
Имя: Ключ к правильным ответамРазложение неправильных дробей
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Ответы

об. 194⁄5

1. 111⁄2

2. 151⁄9

3. 51⁄7

4. 54⁄9

5. 61⁄4

6. 175⁄10

7. 101⁄3

8. 71⁄10

9. 166⁄9

10. 85⁄6

11. 193⁄5

12. 161⁄9

13. 111⁄10

14. 115⁄9

15. 102⁄4

16. 144⁄6

17. 133⁄6

18. 91⁄5

19. 73⁄5

20. 141⁄3

Разложите каждую неправильную дробь.

об)
9 54

5
= 194⁄5

1)
8 7

2
= 111⁄2

2)
6 82

9
= 151⁄9

3)
3 15

7
= 51⁄7

4)
2 31

9
= 54⁄9

5)
3 13

4
= 61⁄4

6)
8 95

10
= 175⁄10

7)
5 16

3
= 101⁄3

8)
2 51

10
= 71⁄10

9)
6 96

9
= 166⁄9

10)
3 35

6
= 85⁄6

11)
10 48

5
= 193⁄5

12)
8 73

9
= 161⁄9

13)
5 61

10
= 111⁄10

14)
4 68

9
= 115⁄9

15)
6 18

4
= 102⁄4

16)
7 46

6
= 144⁄6

17)
10 21

6
= 133⁄6

18)
6 16

5
= 91⁄5

19)
3 23

5
= 73⁄5

20)
7 22

3
= 141⁄3
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